7 ANSWERS

QUESTIONS (Answers)
1-4 BAétre Ke@. 7 TOU BIBAiou.
5.
a. The inventory turnover is 8 times
b. The Return on Capital employed is 30%
c. (i) Gross profit percentage is 26,67 % (i) Net profit percentage is 10%
d. (i) Currentratiois 1,75:1 (ii) Acid Test ratio is 1,2:1
EXERCISES
1. Christina Plc

. ~50.000
a) (i) Current ratio
40.000

=1,25:1

o . ~13.000
(i) Liquid acid test ratio
40.000

=0,325:1

b) Both ratios are low

2. Montana Plc

. _ Gross profit _ €115.800
a) Gross Ratio = Not Salos X 100 = 55523000

*(€50.200 + €194.800) — €2.000

X 100 =47,65%

Current Assets B €19.700+€14.900+€58.300 —174:1
Current Liabilities €17.400+€36.000 s

b) Working capital ratio =

Trade receivables X 365 = €14.900 X
Net credit sales ~ *€£192.800

c) Trade receivables collection period = 365 =

28,21 or 28 days
*(€194.800 — €2.000)



Trade payables

d) Trade payables payments period = . =————— X365=
) Pay pay P Credit purchases €125.000
50,81 or 51 days
i tory T Cost of sales €243.000 - €115.800 214t
e) Inventory Turnover = , = = imes
y Average inventory  (€60.500 + €58.300)/2 —
3. Granz Ltd
a) Formula 2016 2017
) . . Gross Profit
i) Gross Profit Margin = ————2X 100 | £€3.842.600 %100 = 50.53% €3603.480 0 o ar
£7.605.000 RSt £8.320.000 TSR
i) Net Profit Margin = w X 100 _£770.600 X100 =10,13% £797.340 X100 = 9,58%
" Vg = e es £7.605.000 e €8.320.000 R
Net Profit before inferest €770.600 + €12.500* X100 = €797.340 +€12.500* 100 =
iiiy ROCE = —— - 2P TPy 100 €1.559.600 - €1.828.600 -
Total capital employed*
50,21% 44,29%
*(Total assets — total liabilities except
debentures)=
Equity +NCL=Total Equity *€250.000 x 5% *€250.000 x 5%
) C { Ratio = Current Assets €1.639.600 4431 €1.838.000 361
v) Current Ratio = = bilties €370.000 €510.000
Acid Test = Current Assets - Inventory €1.089.600 2 94:1 €1.218.000 _ 5 39:1
V) Act =7 Current Liabilities €370.000 €510000
vi) Rate of Inventory turnover = 200 0({;:;762:50(;)000 = 7.17 €4.716.520 - 8.06
Cost of sales (£500.0007+ €550.000) 12 | (€550.000 + €620.000) /2 ~
Average inventory (€550.000 x %) times
ii ' ' = €1.014.000 €1.203.000
vii) Receivables collection days X 365 = 48.67 = X 365 = 52.78 =
Trade receivables €7.605.000 €8.320.000
X 365
Sales 49 days 53 days
viii) Payables settlement (paym.) days = €370.000 X 365 = 35.4 €510.000 % 365 = 38.89
Trade payables €3.812.400 IR €4.786.520 IR
X 365
Purchases* 35 days 39 days
*Purchases = COS — open+clos.inventory




(b) To TmoocooTd KaBapoU KEPDOUG Exel HeElwBEeT katd 0,55% dnAadn atmé 10,13% 10
2016 o€ 9,58% 10 2017. AuUTO ptropei va o@eieTal o€ (1) augnon Twv 00wV
OUYKPITIKA PE TIG TTWAAOEIG Kal (1) Meiwon Tou O€ikTn PIKTOU K€EPdOoUG (GP%) Adyw
MEiwOoNG TNG TIUAG TTWANONG A KAl aUENONG TOU KOOTOUG TWV AYOPWV.

The Net Profit Margin was decreased by 0,55% from 10,13% in 2016 to 9,58%
in 2017. This could be due to (i) increase in operating expenses (ii) Decrease
in GP% due to lower selling prices or higher cost of Purchases.

4.

a) Pink and Lady (calculations are required in one decimal place)

Pink

Lady

Gross Profit | Gross Profit 129 154
—— X100 — X100 =45,42% | —— X 100 = 50,49%
percentage Sales 284 305
Net profit Net Profit 61 47
— X 100 — X100 = 21,48% | =—= X 100 = 15,41%
percentage Sales 284 305
Return on 61 47 +5
[ [ —— X 100 X 100
Capital Net proflt before interest 100 | 150 ¥ 108 S50+ 177 750
Capital employed * o .
Current ratio Current Assets 201 1071 383 118:1
Current Liabilities 188 325
Quick ratio Current Assets — Inventory 110 0.59: 1 90 0.28: 1
Current Liabilities 188 77 325 7
Receivables 46 75
[ — X 365 —— X 365
collection ReC;l—llmbles X 365 284 305
period ares = 59,12 days = 89,75 days

*Capital employed =equity+ NCL

b) To TT0000TO TOU PEIKTOU KEPDOUG gival YNAOG Kal OTIG dUo eTaipeieg. H Lady £xel
WYNAOTEPEG TTWANROEIG TOOO O€ ATTOAUTOUG ApPIBUOUG OO0 KAl O TTOO0OTO PEIKTOU
KEPOOUG. AuUTO iIOWG va OPEIAETAI OE EKTITWOEIG TTOU TIG £XOUV TTapaxwpenoei Adyw
MEYAAUTEPOU OYKOU TTWANCEWY ) € YNAOGTEPEG TIMEG TTWANCNG TTOU TNG ETTITPETTETAI VA
TTOUAG iowg AOyw TG TOTTOBETIOG TNG ETTIXEIPNONG.




The gross profit percentage is high for both companies. Lady, which has a
higher sales figure in absolute terms, also has a higher gross profit percentage.
It is possible that its marginally greater sales volume enables it to take
advantage of discounts. As the two companies operate in the same market, it is
possibly geographical location that makes the difference in the profit margin
Lady can make.

H eikdva 6oov a@opd 1o TTo000TO TOU KABapou KEPDOUG gival TTOAU DIAQOPETIKI UE TV
Pink va éxel ynAdTEPO TTOO0OTO (21,48%) atmd TNV Lady (15,41%) TTOU OQEIAETAI
KaBapd ota wnAoTepa £€00a OAWV TwV KaTnyopiwv TTou €xel n Lady . EmTrpdoberta n
Lady £xel va TTAnpwaoel TOKoug daveiwy , evw n Pink degv éxel kabBdAou daveia.

The picture is different when it comes to net profit percentage. Pink at 21,48%,
which is significantly higher than that Lady (15,41%). The main reason for this
is that expenses in all categories are higher for Lady. In addition, Lady is
paying loan interest, while Pink does not have any loans.

O Acgiktng KukAogopiakig PeuoToéTnTag KAl TV OUO ETAIPEIWV Eival XAPNNAOTEPOG
aTTO TOV YEVIKWG ATTOOEKTO 2:1 TTOU PTTOPEI VA EYKUPOVEI KIVOUVOUG.

21N mepimTwon Tng Lady o Agiktng MNpayuatikig PeuotdtnTag gival avnouyxnTika
XOaUNAGG 010 0,28:1 Kal opeileTal 0To YNAS €TTITTESO ATTOBEPATWY TTOU Eival KAl PIa
€voelEn OT1 autd gival dBUoKOAO va TTouAnBouv. H Lady ue TToAU xaunAd diaBéaiua
METPNTA AVTIMETWTTICEI TIPOBANUA PEUCTOTNTAG CUVETTWG, TTIBAVOV va Pnv gival o B€on
va KAAUWEI TIG BPaXUTTPOBECUEG UTTOXPEWOEIG TNG

The current ratios of both companies are lower than 2:1, indicating potential
liquidity problems. In the case of Lady, the quick ratio is very low at 0,28:1.
Much of Lady Ltd.’s working capital is tied up in inventory, and the high
inventory levels suggest that inventory is not selling. Lady, with its low cash
balance and lack of liquidity, may have problems paying debts as they fall due.

H Méon MNepiodog Eiompagng cival ToAU wnAA kai yia TIG dUO eTaIpEiES Kal 101AITEPA
yia Tnv Lady oTig 89,75 pépeg TTou €ival KATa TTOAU geyaAuTePN TTEPIOdOG aTTo TIG 59,12
MEPEG TNG Pink. H Lady TTp€TTel va aoKei KAAUTEPO €AEYXO TTIOTWOEWV A@ou OTav Ol
XPEWOTEG OEV TTANPWVOUV £yKAIPa AugAvETal O KivOUVOoG va dnuioupynBouv aTTWAEIEG
ATTO XPEWOTEG.

The receivables collection period is high for both companies, but for Lady, at
89,75 days it is considerably higher than that of Pink, which has 59,12 days.
Lady Ltd needs to pay attention to credit control. The longer a debt remains
unpaid, the less likely it is to be paid.

MapoAo Aoimov mou n Lady €xel ynAdTEPO TTOOOO0TO PEIKTOU KEPOOUG, AVTIMETWTTICEI
TPORAAUATA PEUCTOTATAG Eival AIlYOTEPO ATTOTEAEOUATIKI KAl OEV AOKEI KOAG TTIOTWTIKO
éAeyxo. H Pink Aoimmov, pe wnAotepo Acgiktng Amodoong AttacxoAoupevwy Ke@aAiaiwv
Bewpeital KaAAUTEPN €TTEVOUOT).



In conclusion, although Lady has a higher profit margin, it has liquidity
problems, is less efficient and has ineffective credit control. Pink has a higher
Return on Capital Employed and is therefore a better investment

5. a) Calculation of Closing Inventory

Given: Currentratio=1,5

Bank + Receivables + Inventory
— =15
Current Liabilities

Therefore:

€20.000 +€180.000 + Inventory L5
€200.000 S

mm) 1,5 X€200.000 = €20.000 +€180.000 + Inventory
Closing Inventory = £€100.000

b) Calculation of Gross Profit

Given: Inventory turnover = 3 times

Cost of sales

Therefore: - = 3 times
—  Average inventory

==) Costof Sales = 3 x Closing Inventory

mm) Cost of Sales = 3 x €100.000

m=) Cost of Sales = €300.000

m=) Gross Profit = Sales — Cost of Sales
= €400.000 - €300.000

m=) Gross Profit = €100.000



6. Marcella’s Pharmacy

Cost of sales* _ €850.000
Average inventory*  €65.000

a) Inventory Turnover = 13,08 times

365
13,08

In days = = 28 days

*Cost of Sales = Opening Inventory + Purchases — Closing Inventory
= €90.000 + €800.000 - €40.000
= €850.000

Opening Inventory + Closing Inventory _

*Average Inventory = > — €65.000

b) O Aciktng Kukho@opiakng Taxutntag ATToBeudTwy deixvel TTO0EG POPES TO XPOVO
QVAVEWVOVTAI Ta ATTOBEUATA PIa ETTIXEIPNONG.

O &¢ikTnG auTds £xel onuelwoel Peiwon katd 10 pépeg, dnAadn atrd 38 pépeg 10 2015
o€ 28 pépeg 10 2016, TO OTTOIO dEixvel OeTIKA TAON. AuTO onuaivel 6Tl n €TTIXEipNON
avavewvel Ta ammoBéuata TG Katd 10 PEPES VWPITEPA ATTOPEUYOVTAG ETOI HEYAAES
TTOOOTNTEG ATTOBEPATWY OTNV ATTOBNKN yIa TTOAU KaIpO (UEIWVOVTAG £TOI TA €000
dlatripnong Toug aAAd Kal TNV dEopEUON KEQaAQiwyY O€ aTToBEuaTA)

The Inventory turnover indicates how many times the business replaces its average
inventory. This was fallen by 10 days from 38 days in 2015 to 28 days in 2016 which
indicates a favorable trend since the business replaces its average inventory by 10
days faster and therefore avoids holding larger inventories in the warehouse for too
long (high stockholding costs and capital tied up in inventories)



7. Pambina (Xinaris Vs Roussos)

*Share Capital + Reserves +

Debentures

*1.000+32.520

Xinaris Roussos
Ratio Formula Calculations (Given)
. €15.175
_ _ Gross Profit ———— X100 =
Gross Profit Ratio — X 100 €23.420
Sales 45%
64,8% 0
€4.000
Current Ratio Current Asgﬁs =2,7:1 1.6:1
Current Liabilities €1.480
Trad ivabl £2.500 X 365 = 38,96
rade receivables —_— = 38,
Receivable Period X365 |€23.420 52 days
Sales
or 39 days
€8.245
Cost of sales =5,69 times
Inventory Period , €1.450
Average inventory 39 days
365:5.69 = 64 days
Non — current Liabilities €1.000 % 100 =
Total Capital Employed * €32.520* -
Gearing ratio X100 =--?% 3,08% 33%

To Tooo0T1é MelkToU KEPOOUG TNG Xinaris gival ynAotepo katd 19,8% atmd autd Tou
Roussos kai pytropei va o@eiAeTal o€ dIAPOPOUG TTAPAYOVTEG, OTTWG ayopd TTPOIOVTWYV
atré AAAO TTpouNBEeUTH 0€ XauNAOTEPN TIPN 1] 0€ YNAOGTEPEG TIMEG TTWANONG

Gross Profit of Xinaris is higher than that of Roussos by19,8% probably due to
higher selling prices or lower purchase prices

O &¢ikTng KukAopopliakng PeuoTtdTnTag TnNG Xinaris €ivai 1o KoVTd oTo ATTodekTo 2:1
AUTO gival pia €voeign OTI UTTOPE va KOAUWEI TIG BPAXUTTPOBECUEG UTTOXPEWOEIG TNG

OUYKPITIKA PJE TNV ROUSSOS TTOU i0W¢G va avTIHETWTTICEI TTPORAAUATA PEUOTOTNTAG




The current Ratio of Xinaris is closer to the normal 2:1 compared to that of
Roussos which is lower and might be an indication of future liquidity problems

H péon mrepiodog ciotrpagng tng Xinaris €ival cuvtoudTtepn Katd 13 péPeG TTou moavo
Va OQEINETAI O€ KAOAUTEPO EAEYXO TWV TTIOTWOEWV.

The receivable period of Xinaris is shorter by 13 days and it could be due to
better/stricter credit control policy

O &¢iktng KukAogopiakng Taxutntag AtroBeudtwy Tng Roussos gival cuvtoudtepog
Kata 25 pépeg. Autd onuaivel 0TI Ta ATTOBEPATA TTWAOUVTAI YPNYyoPOTEPA Kal
avTIKaBioTavTal JE Kalvoupyla JE ATTOTEAEOUA va KEPDICEI TTEPICOOTEPA .

Inventory Period of Roussos is shorter indicating that its inventory is sold
guicker and therefore more profit is earned

Kai o1 duo eTaipeieg £xouv XaunAo deiktn daveiakng empdapuvong (Xinaris 3,08% and
Roussos 33%) 1rou gival évoeign o1 xpnuatodoTouvTal KUpiwg atro idia ke@aAaia
XWPIG va e¢apTouvTal atro dAvEIa KAl TUXOV KIVOUVOUG O€ TTEPITITWON MN
QATTOTTANPWHNG TOUG

Both companies are low geared (Xinaris 3,08% and Roussos 33%) indicating
that are mainly financed by internal funds and are not dependent upon loans
having therefore low risk in their capital structure.



8.

Calculation of ratios for Brown & Pink plc:

. . . Non—current Liabilities
a) (i) Gearing ratio= - X100 =--7%
Total Capital Employedx*

_€1.000+€200

x 100 = 69,48
€1.727%
*€1.000 + €727
(i) Return on Capital Employed
N it b [ 513 X 100
et profit before interest ¥ 100 727 + 1,000
Capital employed *
=18,12%

Calculation of ratios for Exterior plc:

. . Non—current Liabilities
Gearing ratio = . X100 =--7%
Total Capital Employedx*

_ €600
€1.927

x 100 = 31,14%

(i) Return on Capital Employed

630
Net profit before interest ¥ 100 1927 X 100
Total Capital employed *
= 32.69%

NMPOZOXH:

To Preference Share Capital, Tooo mng eTaipgiog Brown & Pink plc 600 kai 1ng
eTaipeiag Exterior plc, apopouv Redeemable Preference Shares, yr' auté otn Auon
TNG AoKNONG XpnolpoTroineénkav oav otoixeio Tou Non-current Liabilities.

21NV doknon Tou BIBAiou, atmd afAcyia, TrepiIAaupavovtal oTto Equity avti oTa

Non-current Liabilities.



b) Comments:

Gearing ratio

H etaipeia Brown & Pink Plc €xel ynAd dciktn davelakng empapuvong (69,48%).
AuTO eival évdeign Ot xpnuatodoTeital Kupiwg atrd EEva ke@AAaia Kal e¢apTdTal aTrd
ddvela KATI TTOU iowg va TTEPIKAEIEI KIVOUVOUG O€ TTEPITITWON N ATTOTTANPWUAG TOUG.
AvTiBeTa n eTaipeia Exterior Plc €xel xaunAod degiktn davelaknig empBapuvong (31,14%)
TToU ival €vOeIgn 0TI XpnuaTodoTeiTal Kupiwg ato idia KeedaAaia Xwpig va e¢apTdTal
at1ro dAVEIN KAl TUXOV KIVOUVOUG O€ TTEPITITWOTN PN ATTOTTANPWHNAG TOUG.

Return on Capital Employed

O o&¢ikTng ATTodoong AtracxoAoupévwy Kepahaiwv (ROCE) Tng eTaipeiag Brown &
Pink Plc givai kata 14,57% xaunAoTepo (18,12%) atrd autd Tng Exterior Plc (32,69%)
TToU €ival £vOEIgn KaARG atrdédoong Kal TNV KAVEI TTI0 EAKUCTIKI) OTOUG ETTEVOUTEG

9. Apollo plc
a) 31 March 31 March 31 March
2015 2016 2017
Gearing 2,3% 18,62% 30%

. . Non—current Liabilities
Gearing ratio = . X100 =--?7%
Total Capital Employed*

__€1.400+€1.000

— 300
5000, % 100 = 30%

*3.486+1.400+1.000+2.114

b) Comments on trend
The ratio increased from 2,3% in 2015 to 18,62% in 2016 to 30% in 2017.

This significant increase is not good for the business because there is more risk in its
capital structure although the business remains a low geared one.
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O apiBpodeiktng auéndnke atod 2,3% 1o 2015 o€ 18,62% 10 2016 Kai o€ 30% 10 2017.
AuTi} n onuavTiki augnon Ogv gival KaAr yia Tnv €Tmxeipnon, dI0TI UTTAPXEI
TTEPIOTOTEPOG KiVOUVOG OTNV KeEQaAaiakr diIdpBpwar] TnG, av Kal n €TIxXEipnon
TTOPAPEVEl O€ XOUNAG TTOOOOTA HOXAEUONG.

NMPOXOXH:
O1 6% Preference Shares of €10 each, apopouv Redeemable Preference Shares

yI' auté oTn AUon NG Aoknong xpnoiyotroinénkav oav oTolixeio Twv Non-current
Liabilities.
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